. M. al Candidate :
(GLISH (COMPULSORY)  Intermediate Part-I, Class 11 (1A 323-1V) Paper:1 Group-II
ime: 30 Minutes ﬁ .y‘v—lff"’?""zz OBJECTIVE Code: 6018 Marks: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will fesult in zero mark in that question.

1. Choose the right option of the underlined words and fill up the bubbles. 10
(Book I — Short Stories, Book III — Plays and Poetry):

1. In Sindhi woman’s tread, there is no ripple.

(A) maker (B) baker (C) stagger (D) begger
2. Roger Spelding is middle-aged, unctuous resonant.
(A) sympathetic (B) shy (C) sad (D) flattering
3. The foundation of oppression was small.
(A) justice (B) pressure (C) cruelty (D) beggary
4. She shook him until his teeth rattled.
(A) broke . (B) clattered (C) shone (D) removed
3. M. Steward’s tone had been offensive.
(A) artificial (B) annoying (C) cold (D) encouraging
6. Holding a grain of millet in her beak.
(A) rice (B) cereal (C) wheat (D) “sugar
7. Compose a symphony, paint a picture, write a book.
(A) musical rhythm (B) book (C) play (D) poem
8. Her hair is dis-hevelled.
(A) cut (B) scattered (C) smooth (D) arranged
9. The glory of their country would be increased.
(A) safety (B) grandeur (C) target (D) aim
10.  The other passengers whirled away across the Martiafi meadow.
(A) returned (B) came ) [ (C)omoved (D) tired -
Choose the right option for the followingand fill up the bubbles: 5
11.  Clay says, “Your fishing tackle’s in thé'@loset safe’and sound”.
(A) undertaking (B) gear (C) pond (D) stew
12, This is a wrong costume.
(A) suggestion (B3)" building (C) dress (D) cosmetics
13. In the final unreasoning assault, I overpowered the child’s neck and jaws.
(A) effort . (B) argument (C) attack (D) analysis
14. A tyrant does not fémain in this world.
(A) cruel rulér (B) luxurious king (C) tycoon (D) akind king
15. He prefended thathie was a doctor.
(A) said (B) announced (C) posed (D) offered
Choose the correct form of verb and fill up the bubbles: 5
16. He has already the test. :
(A) pass (B) passes (C) passed (D) passing
17. 1said that - tea.
(A) take (B) took (C) has taken (D) am taking
18. Hard work never waste.
(A) go (B) goes (C) will go (D) cango
19, 1t raining since morning.
' (A) has been (B) have been (C) is (D) was
20. If he had forgiven him, he himself,
(A) will reform (B) has reformed (C) reforms 4 (D) would have reformed
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2. 'Write short answers (in 3 — 5 lines) to any SIX questions in words of your own

i
il.
iii.
iv.
V.
Vi,
vil,
viii.
ix.

(Book — I, Short Stories):

Why did Norma try to persuade her husband to agree with her? (Button, Button)
Why didn’t the old man follow the advice of the doctors? (Clearing in The Sky)
What climate did they face on the Mars? (Dark they were and Golden Eyed)
What happened to the boy when he tried to snatch the purse? (Thank You M’am)
Why did George give the pocket book to his employer? (The piece of String)
What was the behavior of the child towards the doctor? (The use of Force) -
Why did the boy look towards the sky and smile? (The Gulistan of Sadi)

What was stuck in the camel’s throat? (The Foolish Quack)

Why did the farmers throw wet leaves on fire? (A Wild Attack of Locusts)

3. Write short answers (in 3 —5 lines) to any Five questions in words of your own

i
ii.
iii.
iv.
v,
vi.
vii.
viii.
4.

iil.

iv.

vi.

(Book — III, One Act Plays):

Why could not the girl describe the killer?

Why did she ask for help from the First Man?

Why did not she accompany the Second Man?

What is the purpose of Kreton’s visit?

How does Kreton impress general powers?

Why is Harry sitting in the barber’s chair?

What is Harry’s philosophy?

Who is Applegarth?
Write short answers (in 3-5 lines/sentences) to any FOUR questions.in weords of your own
(Book — ITI, Poems):

What is the main idea of “The Rain™?

Write down at least four sentences on the personality ofthe Rider.

10

“And a time to every purpose under the heaven” Explains (Turn Over)

. (1) —t)—2 23

What is the loss if the modern mandhas nodeisure?
What was the condition of the Muslims in Igbal’s times?
What is the c[iﬂ‘erencc between the human and divine names? (God’s Attributes)
SECTION -11
Write down a letter to youtifather.éxplaining the causes of your failure in the examination.
OR
Write down an applicationte the Principal of your college for sick leave.
Write down a stéry on the moral lesson: “Kindness never goes unrewarded”
OR
“Greediiga Clirse”
(a) “Explain the following lines with reference to the context:
Music of strange lands with Islam’s fire blends,
On which the nation’s harmony depends;
Empty of concord is the soul of Europe,
Whose civilization to no Makkah' bends.
(b) Punctuate the following extract from Book I: {Short Stories) :
but wait a moment said jorkens you don’t remain an athlete all your life and he still had to
get the post created
(c) Use any FIVE of the following pairs of words in sentences of your own:
(i) Abject ; Object (ii) Cast ; Cost (iil) Farther ; Further (iv) Illicit ; Elicit
(v) Prescribe ; Proscribe (vi) Sole ; Soul (vii) Vain ; Vein
Translate the following passage into Urdu (Book — I, Short Stories):
She heated some lima beans and beef she had in the icebox, made the cocoa, and set the table.
The woman did not ask the boy anything about where he lived, or his folks, or anything else that
would embarrass him. Instead, as they ate, she told him about her job in a hotel beauty shop that
stayed open late, what the work was like, and how ali kinds of women came in and out, blondes,
redheads and Spanish. Then she cut him a half of he: ©+ - ant cake.
ALTERNATE QUESTION FOR FOREIG . N4 MEDIUM CANDIDATES ONLY
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Write an essay on * Social Evils 7. 208-1°* A 323-91000



